Practice questions — Year 3 — Measure

. 350mm=___ cm (measure)
. 42cm=___mm (measure)
. 3m=___ cm (measure)

. m=2000 mm (measure)

Which is longer, 105 cm or 1 m? (measure)
Which is longer, 140 cm or 1300 mm? (measure)
. Which is heavier, 2200 g or 2 kg? (measure)

. Which is heavier, 4 kg or 3500 g? (measure)
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. Which is more liquid, 2300 ml or 2 I? (measure)

10.Which is more liquid, 1800 ml or 2 I? (measure)
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Practice question answers — Year 3 — Measure

. 350 mm = 35 cm (measure)

. 42 cm =420 mm (measure)

. 3 m =300 cm (measure)

2 m =2000 mm (measure)

Which is longer, 105 cm or 1 m? = 105 cm (measure)
Which is longer, 140 cm or 1300 mm? = 140 cm (measure)
. Which is heavier, 2200 g or 2 kg? = 2200 g (measure)

. Which is heavier, 4 kg or 3500 g? = 4 kg (measure)
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. Which is more liquid, 2300 ml or 2 I? = 2300 ml (measure)

10.Which is more liquid, 1800 ml or 2 I? = 2 | (measure)
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